Random walk

steps.rw <- vector (mode = 'numeric', length = 1000)
sample (x = c(-1,1), size = 1)

steps.rw [2] <- steps.rw [1l] + sample (c(-1,1), 1)

steps.rw [3] <- steps.rw [2] + sample (c(-1,1
steps.rw [4] <- steps.rw [3] sample (c(-1,1), 1)
steps.rw [5] <- steps.rw [4] + sample (c(-1,1

+

for (k in seqg (2, 1000))
{
steps.rw [k] <- steps.rw [k-1] + sample (c(-1,1),1)
}

steps.rw

plot (x = steps.rw, type = '1")

random.walk <- function (no.steps)

{

steps.rw <- vector (mode = 'numeric', length = no.steps)

for (k in seqg (2, no.steps))
{
steps.rw [k] <- steps.rw [k-1] + sample (c(-1,1),1)
}

steps.rw

}
plot (random.walk (1000), type = '1'")
par (mfrow = ¢ (5,5), mar = ¢ (2,2,1,1))

for (i in seqg (1, 25))
{
plot (random.walk (1000), type = 'l', ann = F, axes =
}
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